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Minus 

Sæt streg over figurerne og skriv det rigtige tal. 

 

          

         

6 - 2 =  
 

 

 

          
 

         

10 - 3 =  
 

 

   

          

3 - 1 =  
 

 

 

             
 

          

8 - 4 =  
 

 

 

                
 

                     

7 - 3 =  
 

 

 

 

            

4 - 3 =  
 

 



 

 www.JoanEriksen.dk JE - AW Side 2 
 

Minus     LØSNING 

Sæt streg over figurerne og skriv det rigtige tal. 

 

          

         

6 - 2 = 4 
 

 

 

          
 

         

10 - 3 = 7 
 

 

   

          

3 - 1 = 2 
 

 

 

             
 

          

8 - 4 = 4 
 

 

 

                
 

                     

7 - 3 = 4 
 

 

 

 

            

4 - 3 = 1 
 

 


